50, will be treated as malpractice.

aining blank pages.

, appeal to evaluator and /or equations written eg, 42+8

, compulsorily draw diagonal cross lines on the rem

2. Any revealing of identification

Important Note : 1. On completing your answers

g\\ﬁ‘ e 0%

USN
Time: 3 hrs. &W%} P Max. Marks:100
Note: Answer any FJ (E full questions, selecting -

1 a. Define instruction set archltectqg‘e Illustrate seven dlmensrpns of ISA. (08 Marks)
b. Find the number of dies 350 fhm wafer for a die thatds.17.5mm on a side and find yield by
assuming density of 0.?& nd manufacturing compleXity is 4. (04 Marks)
c. Explain the methods aﬁ?d\;,g servations to 1mprove the performance of a system. (08 Marks)
2 a. Withdata path e@gcplaﬁ classic five stage plp for a RISC processor. (06 Marks)
b. Explain the met%ds to reduce pipeline brarmka senalties. (06 Marks)
¢. List types f xeeptlons and explain requlrernents on exceptions. (08 Marks)

3 a Deﬁne tru%"tlata dependences andﬁﬁme data dependences, ﬁgpla1n all possible data hazards.
”’“%1 (07 Marks)
b. Explam 2 bit branch prediction scheme with state dlag (05 Marks)
c. With neat diagram, explarnﬁorﬁasulo s approachy}\fer dyll*ﬁ‘rmc schedulpgé (08 Marks)
4 a. Listthe falvours of multrpl%wgsue processor w@tltl bas1c VLIW approach (08 Marks)
b. Illustrate how branch target buffer helps i in. dﬁ%‘ing the branchﬁpenaltles (06 Marks)
c. (06 Marks)
5 a. Explain Flynn’s classification of co%uters %{f* (06 Marks)
b. To achigye a speedup of 80 wrt@ﬁioo processor. What fractions of the original computation
can be’sequential? (04 Marks)
G. Expla directory based ca@h@%cdherence protocolr% (06 Marks)
d. Wnt@ a note on memorﬁ%nslstency res (04 Marks)

o @@ &“ L 4
6 Dérive the CPU exe%’tgon time equation by eonsidering memory stall cycles. (05 Marks)
b. “Explain write strategy in first-level of thé’'memory hierarchy. (05 Marks)
c. Explain how _mul el cache helpé"“r}‘l;reducmg mlss penalty For 1000 memory references
?MISS rates? Assume the nnss penalty from the L2 cache to memory is 200 clock
cycles, the hit time of the L2 cache is 10 clock cycles, the hit time of L1 is 1 clock cycle and
there are 1.5 memory referé’ﬁees per instruction what is the average memory access time and
average stall cycles per m*s%uctwn" (10 Marks)
7 a. Write the typical multrlivel memory hierarchical structure and define 3 C’s of misses.

y (06 Marks)

b. Explain compll" r optimization with example. (06 Marks)

c. Give the drfferences between SRAM and DRAM. (03 Marks)

d. Explain protectlon via virtual machines. (05 Marks)
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Consider a loop for (i=1;i<=100; i++)
{
A [i] = A[i] + B[i]; /*S1%/
B [i+1]=C [i] + D [i];} /*§

What are the dependences between S1 and S274s ('show how to make

it parallel? (06 Marks)
List the drawbacks of dependences. (04 Marks)
(10 Marks)

Explain software pipelining with loo

—



